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trrutr\hpnttf hrurirulhpfr p3nt2h[r durtfurhru\urtlnp urqurtn dfr2ngLhptr
tnhlurpru2]unuffrg L 4hr:lnqfrurtrhpfrg uuurgrlurb urn\nuunldurptrhp
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trurdhhtnfrpur\urtr ptr\hpmplmhtrhpmil hrutiur3Lpf r.furutrur\gmp1u:h

+htfug hrurlurltrpf p1nt2h ilnttnpurqprlnrl 2urhurpurdfhtrhp
0.0 x
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Zuilurlhpf {urp1uluh rnurprubpnui qrntllnrl qhtnnrppuh h
hutftulhpfr uh{rru\ruhnr-fd]uLp qrur.n\ruhnrl hnrputfuruhpfr

\runntgurqurtndurtr frpunlnr-trpf +hriug qurh&rlnr1 {urp&ur{durphhp

0.0 x
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3.4 Zulirujtrpf p1nr2h! hllurilnttnhhp urqpurtrphhplr
rfturnuh urnurpmrlho h burnurlntBlnrhtrtnh ilururntqntilhq
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Zulftultrpfr uhrlu\urhnr-p1mh hruhrlfuurgnl, ru14 prlntrf' tnfrpuqnr-p\,
hrurirulhpfrh npqhu uhr]ru[ruhntplnth urtrgrub uqpruhpLhpfr
(purgurnnrpludp hfrdtrur\urh ilfr2ng, n2 blmpurlurh \urti purp&prupdhp

ur\urfll hurtrrlfrurugnrl, frtrlulhu Lurh hutlurltrplr qurhmuuhhpntd
qruhtlnrl urqpurhpurLlntpur\urtr updhphhpfr) rlurdrunpfrg rlnttnphp

0.0 x
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'tlkr.nnrplurtr q"lrfhg uhlurllurtr |rtrphur\urnrutlurpiluh tiuptilrLtrhplrtr
quufirpru\rlurb fliurqnpnrplnttrhhplr frpur\rutlugrfrutr bru]uuhpfr

$frl-rurhuul{nprirutr hrurlurp qhurur\urh p1m2h[rg uururgr{nr1ti}r2ngtrhp

0.0 x
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Ophhpml uurhdurtnlurb 4hqphpntti hurtturjtrprul|rtr hfnitnuplLhpfr
ltnrLdhg urnurtrg rnhrlur\ruh tnmppfr qtuh&tiurtr ilurtnnr-grlnrl
burnr.ulmplnthtrhplr \uril llurururprlnrl qnpbnrlntplnttrhhpfr ltnirug
umurgrlnrl (qrutr&{n1) u11 {dtuphhp

0.0 x
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Zrutiurlhplr {urplur\rutr r.nurpurEpntti }rtrpbur\rurf \runnr-grlrub
rhtrphnh, rhhntBrmLhhnh onhhurLtuLurqrftutr hurdurp rldupLhp

0.0 x

1360 1.6 Umtnphn urmtdhnhq, r"nntqurtrphhplrg 743t 0.0 0.0 x

urnn 1361 + unn 1362)

uun rarlntd'

1361

.Iup2ru\urh frpurrliu]uur]utnnttftrhpfr huniurp uhqtu\urh

frhptrur\urnrur{rupr.lurh tiurprifrhhhph h"qdhg
rqutnuruluurtluunlntplurtr dlr2ngLhptt \|rpurnntr.ifrg t\g{ry4tUp

0.0 x

7362

Umuphp hrurlurlhpfr plnr-2hfr h\urtmfurttp uuuutr&hurb

qurltftutrurqpurlfrh qurpuullnpntplnttrhhpfr $ururupdrutr 4]lftug
qruhd.tlnrl qEnrl rnntl dhplrg

0.0 x

1370 1.7 QtrBuqhL n) ut ru2urntrurLurtr nnurtiruztrnphhhn 7441 0.0 0.0 x
(urnq 1371 + urnrl 1372)

rurn rarlntti'
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$fqfr\url1utr ruh&uhg h \ruqrftu\hpqnr-plnthtrhpfr
tlllrpurphpnr-p3nthfrg hurr.iurttrphlr, rlhp2frhlru hhpurllur plnt2hurur3frh

hfnitlup\hhpfr rnhopfrtliruhh urtrgurb qnl]Pb ftfnfhur\urtr rtfr2ng \rurf
n2 Llntpur\urh ru\rnfll 2hruh4fruurgnl) |rpurgmrifrg h 4purilr:r\urh
tlfr2ngLhphg nhfu"rgh\ Eur]uuhpfr $frtluhuur{npriurh hunfurp

hullurltiplr p1nt2h utnurgrlruE ilnttnphp' rnpurilurrlp{u-rE urpuurpfrh

urplnrptrhplrg

0.0 x
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$frqlr\ur\urh ruh&urhg tr \urqdrulhpqntplnttihhplr
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